 FEG ERro T
e ) )
o FRRIA AR

S35






| Y
ﬂ;d
1._.5"*?’3\
DL i
?Es%z%,
s fr

—

»;‘:h:‘

s \

o_h
—_
=
_1._\
oy B :F_h-f-
ol g
AR =
\V/
(=t
N

X ¥
™
=
S
=
T -
) =
RE
....7')7%”
AE T









4



E‘liﬁ"l%"{?ﬁ = 758(":1,%3 A ) P ¢« BTN
g)(x;'ﬁf 1{-1{'1)@(-';‘14;1&(-1) L{;:;l(.tj & -

L OF  cy.
2m &@(xft) - \/ﬁ)'?f(ift) = _‘ﬁt__é‘g)@,t)

L 1 ‘B:t
TR RERe . (Hae £33)

ARERITRIR ISE)




e
DR

A
_}—I—r\ﬂl{# -

=T

(
@PH .
= 1} (%,
VIR
-l Hr?
=
V) = '-{-‘1:1 5
2 = =7

2
m
Y Vagy



Ol
FET Ry =5 W)

Sy o =













(h)y E<VY %h@%@“
Uqy) = A-Exi)(‘%'l) + B @?(' &) ﬁ%\
5 = %\KM(\/-*E)
(i) E=V
Yoo = Axt B

C:\ti'?* PN )



Vo, TAF -
D& L35 00K E




PEERT oI A ONA e 5l




FTER T BRRIE 55

?7"; (0) = 7//];(0) TERSATEE
4 AE+B\ = AZ -}%
R (A -B,) = %}_(Az%)




E >V =t 4%hb3
RSAAR=3

E=2V R_O

==



5 mQ):F:Tﬂ%

Al &,

AN R



PERTT = nAONE Eﬂ . \[;‘;;‘ii
M E>V /J&jﬂﬁrl oy
. | 1 Ra
2701(70 = Ai@P(T%’L) t B1€T(4&11) >
sten - V=0 O ~
) e
)éﬂ%{ o BT SN i O (¥<0)
@E( Y i VS 20)

PQ exp (18, *Bz &F tﬁﬂ)
— @{R:H Ea%ﬁ\.)ﬁm\




(i) BE<Y OIRS .
Y= A e"‘FG%\Ij—)*’Bz Kp €1 Rix)

YPIL (X)) = cn_e’q)(%ll) 2% Bl -'E’.&”F (—-%1')()
R iy

\LV(G) R(PH(O) ‘:ﬂr@g& %. ,h m B
i o) @(o ’4 £ (78 1%(\/ E)
! ) QC;O
$










E < vortRQ

BRIATRL SO
‘R~
=" ..





